ANPACHI

]

5 Javan
Tetl=]

=]
QUESTION

3
w
H

[E1Z ¥

=i

TA
=

Wb ELESL
3

= H

SUB TEex

= & Plmppte

N BEEEV RV RN
2 BHEDVIR

(=K

ﬂ%ﬁ@ﬁ%ﬁ
W X e S\
RIMEmR SN Q mH
[ 4o
BoERERELV
M Ok | QRE
R K- K 1 J 49 5Q@ 8 )
HE S QEFEAISE N6
e

DR EEOW
THRRN BaK
KK BB
MRAK 0 R YA 48 S 36

i

.20
RELEQEEQ
MO 3348 S 4o R °
B0 9
. BUEQR
PHRHEREE O ol
S KRR ASD
T U4 D ad°
CESBIEQRY
QR o DD

Ay m
Ly ; ". r

WERYMIED K

A6 OEHITE ) J 2 0 B U

BHE O 5 s’
(BRI ERR LX)

Eﬁ%iwmﬁa

A =N
K= DR P LER
DA i Q REK U W

O<ENRKS” am

CEDS>EEE

|

IEY.

BADS5EZ < DHEE/RLEELI

SO BumR<W¥
EOpON°
DR BEHE
TR TP JEIRSE
BE QNI ) 1 r@3
8 R Q BN {5
DL S VB S
Pl R°
@%%w\%WE
S IR SHER
B R AR - Y
REE OV LY K
DM E R Y
BNN— Q RHETEYY
iR = HSE IR By S
BRI Y S H640°
(HHEEL)

Eﬁ%%zw@%

HNENQHES
RENSEZFER8S
P4 DIKZOD Q3
QIR L EKO.Lre
<3810 R°

DR LR
%%&ﬁﬁ%éw@@
O Sl SR S A
B REERWY

ICRE LR BER

KWREBLON 5408
ISTCN
SHWRER?
B =
O L WTSEEE RS
St SHEZVEER
OEGN ) PFRS
I ORI Y S Ao
(F1X)

Eﬁz@ﬁfii
L I INE
O Se< &’
Ko NENOE] NS
OEIRON QS E QMW
RERLOB S 0o’
SHEELQUOF D&KW
SRS <WEDIHE
42 400 10 10 A Y A0 B
o
ngﬁ%h@BQ%
| BROH
K QB 1Y o KRR e
VoW BKEQY
K=DAIND TN
LSV S S 6
NOIEE ENLEE
WENV N O’
(1)

201351 BAIEEERRE Y %535 (12)





